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Soa+b=180°
FEgzel gol [ Jolmz

.. AB//DC, AD //BC

@® 45° @ 60° ® 90° @180° ® 360°

ol gho] 180°0]H & A%

<

= M4

A

7}

94




@ @
40° / ]
7/
S——
©) @
_-3-~< [T U
’ o
120
AB0° [1 [
~—3_--

YYAPHY O] T Aol trH o] Mol F o] o] 37| =
Zrt.
® 130° + 40° # 180°




12

. 0
A=
ZAe L]—
S Uhehd o
BCD
Aol e

o otof & :—m- i}%
2 A

FPAEY ABCD 2 EAC =
k A
At /A = . 7541]-?"4'
e ZIA}ZE5 o]
5 o 7]
| O] &
1
AC
D

i

i

0
L
©
S

v
VAR /
0 v

i

3




=DB

@ AC

@B

BC

@ AB

=
DB ©]al, /AOB = 90°

Z_i]

A

23}, oA AC




N

—_

[ife]

i

Hlo

o

ofnl M

R s

| "

my ©

I

T

N o

Iy C

£3 T X

1—_/| ﬂo ﬂ_mo

o ) A©“,

N ,nm/u

T

I

N o

n_rwfﬁ_h T

IS <X W

50 O__._._ mu <
mmo Yo RM

Ny

T ©@
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APHC of| A gr&2]2}o] Ao o5 .CPH = 40°
ut2bA /PHC = /CPH + «C |22
90° = 40° + «C
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/EDF = 180° - (/BDF + /CDE)
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